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QUESTION 1

Referring to the exhibit, an administrator notices that the VLAN interface is not coming up. What would cause this
problem? Click the Exhibit to see a larger version. 

A. All member interfaces are down. 

B. The unit number for the VLAN is misconfigured. 

C. The subnet mask is incorrect. 

D. All member interfaces are in access mode 

Correct Answer: A 

 

QUESTION 2

-- Exhibit -- Exhibit -Click the Exhibit button. You are asked to assist with a problem with a new EBGP peering between
Site 1 and Site 2. Referring to 
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the exhibit, Site 1 is not receiving the 100.100.0.0/16 routes from Site 2. Which action will resolve the problem? 

A. Enable the advertise-inactive parameter for the EBGP peering. 

B. Enable the as-override parameter for the EBGP peering. 

C. Create an export policy to export the IBGP routes over the EBGP peering. 

D. Create a next-hop-self policy and apply it as an export policy to the EBGP peering. 

Correct Answer: A 

 

QUESTION 3

-- Exhibit 
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-- Exhibit -

Click the Exhibit button. 

You are asked to configure a multihop EBGP peering to a loopback address of your ISP. The peering does 

not establish, and the ISP has verified that the settings are correct on their side. 

Referring to the exhibit, what is causing the problem? 

A. The peer-as parameter is misconfigured. 

B. The local-address parameter is misconfigured. 

C. The static route is misconfigured. 

D. The neighbor parameter is misconfigured. 

Correct Answer: C 

 

QUESTION 4

Referring to the exhibit, an administrator has configured dot1q-tunneling on the VLAN, but LLDP is not being tunneled. 
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What is causing the problem? 

A. LLDP needs to be enabled as a protocol to tunnel. 

B. LLDP can only be processed one hop away. 

C. LLDP needs to be disabled on the tunneling device. 

D. LLDP tunneling only works on trunked interfaces. 

Correct Answer: A 

 

QUESTION 5

-- Exhibit -- Exhibit -
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Click the Exhibit button. 

On R1, the interface fe-0/0/1 is assigned to the default routing instance and fe-0/0/2 is assigned to a virtual 

router instance named VR-1. 

Referring to the exhibit, the static route 200.200.200.200/32 is missing from the routing table of the default 

routing instance. 

What should you do on R1 to resolve this problem? 

A. Configure a static ARP entry for address 70.1.1.1. 

B. Change the instance type on VR-1 to forwarding. 

C. Create a RIB group to import the direct route 70.1.1.0/24 to both the default instance and the VR-1 instance. 

D. Configure an import policy to import the route 200.200.200.200/32 to the VR-1 instance. 

Correct Answer: C 
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